2014 Paper 3 For more visit: eazyarabic.com
4.5.3 Physics Paper 3 (232/3)

QUESTION ONE PART A
(a) ) D = 0.38 mm = 0.02 (1 mark)
(ii) d = 0.28 mm = 0.05 (1 mark)
b =D =038 1357
' (1 mark)
(c) [, = 38.5 cm (1 mark)
L = 61.5cm (1 mark)
(<L)
R, 38.5
9 61.5
.. R,=5.63Q
(2 marks)
_ 9
=563
= 1.264 (2 marks)

(i1) C, and C, are nearly equal (to the nearest whole number).

(1 mark)
QUESTION ONE PART B
\Y = 3.1 volts £0.1
_V__ 31
lo= R 47x10° A
= 0.659 mA
(3 marks)
I = 0.63 mA
For %
t, = 39s
(1 mark)
pin
For 10
t, = 135s (1 mark)
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(3 marks)



QUESTION TWO

(d)
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[ (cm)
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20.1
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39.6

434

T(s)

201

2.63 3.12 33

3.96

4.34

T2 (SZ)

4.04

6.92 9.73 10.89

15.68

19.84

(e) Graph.
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(6 marks)

(5 marks)
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20

. _ 2V 2
) Gradient = 16 cm/s
_ 0.20 )
= 16 cml/s
= 0.015625 ms™
(3 marks)
(2) Ly = 20 cm = 02m
i t = 520
i T, = 52
Gip T2 = 2704
(1 mark)
H = 22 _ 000739 1 mark
27.04 = : (1 mark)
. H _0.007396
(V) 5 =0.015625
= 04737
(2 marks)
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